
Answers Sequent Calculus

impRight

andLeft

impLeft

close
p =⇒ p, q

close
p, q =⇒ q

p, p → q =⇒ q

p ∧ (p → q) =⇒ q

=⇒ (p ∧ (p → q)) → q

impRight

andLeft

orLeft

impLeft

close
p =⇒ p, q

close
p, q =⇒ q

p, p → q =⇒ q
close

q, p → q =⇒ q

p ∨ q, p → q =⇒ q

(p ∨ q) ∧ (p → q) =⇒ q

=⇒ ((p ∨ q) ∧ (p → q)) → q

impRight

impRight

impRight

impLeft

andRight

close
p, q =⇒ p, r

close
p, q =⇒ q, r

p, q =⇒ p ∧ q, r
close

p, q, r =⇒ r

(p ∧ q) → r, p, q =⇒ r

(p ∧ q) → r, p =⇒ q → r

(p ∧ q) → r =⇒ p → (q → r)

=⇒ ((p ∧ q) → r) → (p → (q → r))

impRight

orRight

notRight

impLeft

close
p =⇒ p, q

close
p, q =⇒ q

p → q, p =⇒ q

p → q =⇒ ¬p, q
p → q =⇒ ¬p ∨ q

=⇒ (p → q) → (¬p ∨ q)



impRight

orRight

notLeft

andRight

notRight

close
p =⇒ p,¬q

=⇒ p,¬p,¬q
notRight

close
q =⇒ ¬p, q

=⇒ q,¬p,¬q
=⇒ p ∧ q,¬p,¬q

¬(p ∧ q) =⇒ ¬p,¬q
¬(p ∧ q) =⇒ ¬p ∨ ¬q

=⇒ ¬(p ∧ q) → (¬p ∨ ¬q)


